

$$\vec{y}' = \begin{bmatrix} 6 & -6 \\ 2 & -1 \end{bmatrix} \vec{y} + \begin{bmatrix} 6 \\ 2 \end{bmatrix} e^{2x}, \quad \vec{y}(0) = \begin{bmatrix} 1 \\ 2 \end{bmatrix}$$

$$\vec{y}_H = e^{2t} \begin{bmatrix} 3 \\ 2 \end{bmatrix} \cdot c_1 + c_2 e^{3t} \begin{bmatrix} 2 \\ 1 \end{bmatrix}$$

a)  $\vec{y}' = \overset{A}{\begin{bmatrix} 6 & -6 \\ 2 & -1 \end{bmatrix}} \vec{y}$

$c_1, c_2 \in \mathbb{R}$

$$0 = \det(A - \lambda E) = \det \begin{bmatrix} 6 - \lambda & -6 \\ 2 & -1 - \lambda \end{bmatrix} = (6 - \lambda)(-1 - \lambda) + 12 =$$

$$= \lambda^2 - 5\lambda + 6 = (\lambda - 2)(\lambda - 3) = 0$$

$\lambda_1 = 2$   
 $\lambda_2 = 3$

$$\lambda_2 = 3$$

$$\begin{bmatrix} 3 & -6 \\ 2 & -4 \end{bmatrix} \begin{bmatrix} x \\ y \end{bmatrix} = \begin{bmatrix} 0 \\ 0 \end{bmatrix}$$

$$\lambda_1 = 2 : \begin{bmatrix} 4 & -6 \\ 2 & -3 \end{bmatrix} \cdot \begin{bmatrix} x \\ y \end{bmatrix} = \begin{bmatrix} 0 \\ 0 \end{bmatrix} \quad \vec{v}_1 = \begin{bmatrix} 3 \\ 2 \end{bmatrix}$$

$$2x - 3y = 0 \quad y = 2t \quad (t \in \mathbb{R})$$

$$x = 3t$$

$$\vec{v}_2 = \begin{bmatrix} 2 \\ 1 \end{bmatrix}$$

$$x - 2y = 0 \quad y = s \quad (s \in \mathbb{R})$$

$$x = 2s$$

$$b) \vec{y}' = \begin{bmatrix} 6 & -6 \\ 2 & -1 \end{bmatrix} \vec{y} + \begin{bmatrix} 6 \\ 2 \end{bmatrix} e^{2x} \quad \alpha = 2 \rightarrow k = 1$$

(2 je jednorázový koef. chr.)

$$\vec{y}_p = e^{2x} \begin{bmatrix} Ax + B \\ Cx + D \end{bmatrix} \quad \vec{y}_p' = e^{2x} \cdot 2 \begin{bmatrix} Ax + B \\ Cx + D \end{bmatrix} + e^{2x} \begin{bmatrix} A \\ C \end{bmatrix}$$

$$\text{dosazení: } \cancel{2e^{2x}} \begin{bmatrix} Ax + B \\ Cx + D \end{bmatrix} + \cancel{e^{2x}} \begin{bmatrix} A \\ C \end{bmatrix} = \begin{bmatrix} 6 & -6 \\ 2 & -1 \end{bmatrix} \begin{bmatrix} Ax + B \\ Cx + D \end{bmatrix} \cancel{e^{2x}} + \begin{bmatrix} 6 \\ 2 \end{bmatrix} \cancel{e^{2x}}$$

$$1. \text{ řádek: } \underline{2Ax + 2B + A} = \underline{6(Ax + B)} - \underline{6(Cx + D)} + \underline{6}$$

$$2. \text{ řádek: } \underline{2Cx + 2D + C} = \underline{2(Ax + B)} - \underline{(Cx + D)} + \underline{2}$$

$$1. \text{ řádek } \text{m x: } 2A = 6A - 6C$$

$$\text{m x}^0: A + 2B = 6B - 6D + 6$$

$$2. \text{ řádek } \text{m x: } 2C = 2A - C$$

$$\text{m x}^0: 2D + C = 2B - D + 2$$

$$4A - 6C = 0 \checkmark$$

$$A - 4B + 6D = 6 \checkmark$$

$$2A - 3C = 0 \checkmark$$

$$2B - C - 3D = -2 \checkmark$$

$$\left[ \begin{array}{cccc|c} 2 & 0 & -3 & 0 & 0 \\ 1 & -4 & 0 & 6 & 6 \\ 0 & 2 & -1 & -3 & -2 \end{array} \right] \xrightarrow{(-2) \leftarrow} \sim \left[ \begin{array}{cccc|c} 2 & 0 & -3 & 0 & 0 \\ 0 & 8 & -3 & -12 & -12 \\ 0 & 2 & -1 & -3 & -2 \end{array} \right] \xrightarrow{(-4) \leftarrow}$$

$$\sim \left[ \begin{array}{cccc|c} 2 & 0 & -3 & 0 & 0 \\ 0 & 8 & -3 & -12 & -12 \\ 0 & 0 & 1 & 0 & -4 \end{array} \right]$$

$$2A - 3C = 0$$

$$8B - 3C - 12D = -12$$

$$C = -4$$

$$\underline{C = -4} \quad \underline{A = -6} \quad \underline{D = t} \quad (t \in \mathbb{R})$$

$$8B + 12 - 12t = -12$$

$$8B = -24 + 12t$$

$$\underline{B = -3 + \frac{3}{2}t}$$

$$\vec{y}_p = e^{2x} \begin{bmatrix} Ax + B \\ Cx + D \end{bmatrix} = e^{2x} \begin{bmatrix} -6x - 3 + \frac{3}{2}t \\ -4x + t \end{bmatrix} =$$

$$= e^{2x} \begin{bmatrix} -6x - 3 \\ -4x \end{bmatrix} + e^{2x} \begin{bmatrix} +\frac{3}{2} \\ 1 \end{bmatrix} \cdot t \stackrel{t=0}{=} e^{2x} \begin{bmatrix} -6x - 3 \\ -4x \end{bmatrix}$$

x/ma klyt t  
parametr je potreba  
vypocit jina

obecné řešení:  $\vec{y} = \vec{y}_H + \vec{y}_p = c_1 e^{2x} \begin{bmatrix} 3 \\ 2 \end{bmatrix} + c_2 e^{3x} \begin{bmatrix} 2 \\ 1 \end{bmatrix} + e^{2x} \begin{bmatrix} -6x - 3 \\ -4x \end{bmatrix}$

$\vec{y}(0) = \begin{bmatrix} 1 \\ 2 \end{bmatrix} : \begin{bmatrix} 1 \\ 2 \end{bmatrix} = c_1 \begin{bmatrix} 3 \\ 2 \end{bmatrix} + c_2 \begin{bmatrix} 2 \\ 1 \end{bmatrix} + \begin{bmatrix} -3 \\ 0 \end{bmatrix}$

$$3c_1 + 2c_2 = 4$$

$$2c_1 + c_2 = 2 / (-2)$$

---

$$-c_1 = 0 \rightarrow \begin{array}{l} c_1 = 0 \\ c_2 = 2 \end{array}$$

$$\vec{y} = 2e^{3x} \begin{bmatrix} 2 \\ 1 \end{bmatrix} + e^{2x} \begin{bmatrix} -6x - 3 \\ -4x \end{bmatrix}$$



$$\vec{y}' = \begin{bmatrix} -2 & 2 \\ -1 & 1 \end{bmatrix} \cdot \vec{y} + \begin{bmatrix} x \\ 2 \end{bmatrix} e^{0x} \text{ a) homogenni: } \lambda_1 = -1 \quad \vec{v}_1 = \begin{bmatrix} 2 \\ 1 \end{bmatrix}$$

$$\lambda_2 = 0 \quad \vec{v}_2 = \begin{bmatrix} 1 \\ 1 \end{bmatrix}$$

$$\vec{y}_H = C_1 \cdot e^{-x} \begin{bmatrix} 2 \\ 1 \end{bmatrix} + C_2 \begin{bmatrix} 1 \\ 1 \end{bmatrix}$$

$$\lambda = 0 \rightarrow k=1$$

$$\vec{y}_p = \begin{bmatrix} Ax^2 + Bx + C \\ Dx^2 + Ex + F \end{bmatrix} \quad \vec{y}_p' = \begin{bmatrix} 2Ax + B \\ 2Dx + E \end{bmatrix}$$

$$\text{dosazení: } \begin{bmatrix} 2Ax + B \\ 2Dx + E \end{bmatrix} = \begin{bmatrix} -2 & 2 \\ -1 & 1 \end{bmatrix} \begin{bmatrix} Ax^2 + Bx + C \\ Dx^2 + Ex + F \end{bmatrix} + \begin{bmatrix} x \\ 2 \end{bmatrix}$$

$$1. \text{ řádek: } \underline{2Ax + B} = \underline{-2Ax^2 - 2Bx + 2C} + \underline{2Dx^2 + 2Ex + 2F} + \underline{x}$$

$$2. \text{ řádek: } \underline{2Dx + E} = \underline{-Ax^2 - Bx - C} + \underline{Dx^2 + Ex + F} + \underline{2}$$

$$1. \text{radel } m x^t: 0 = -2A + 2D$$

$$m x: 2A = -2B + 2E + 1$$

$$m x^o: B = -2C + 2F$$

$$2. \text{radel } m x^t: 0 = -A + D \checkmark$$

$$m x: 2D = -B + E$$

$$m x^o: E = -C + F + 2$$

$$-A + D = 0 \rightarrow \boxed{A=D}$$

$$2A + 2B - 2E = 1 \quad *$$

$$B + 2C - 2F = 0$$

$$B + 2D - E = 0 \quad **$$

$$C + E - F = 2$$

$$2B + 2D - 2E = 1 \quad *$$

$$B + 2D - E = 0 \quad ** \quad (-2)$$

$$B - E = 1$$

$$B + 2C - 2F = 0$$

$$C + E - F = 2$$

$$\boxed{E=0} \text{ (Zieline)}$$

$$\boxed{B=1}$$

$$2C - 2F = -1$$

$$C - F = 2$$

$$-2D = 1 \rightarrow \underline{\underline{D=A=-\frac{1}{2}}}$$

$$2B - 1 - 2E = 1$$

$$B - 1 - E = 0$$

$$\left. \begin{array}{l} 2B - 1 - 2E = 1 \\ B - 1 - E = 0 \end{array} \right\} \boxed{B - E = 1}$$

$$\begin{aligned} B - E &= 1 \\ B + 2C - 2F &= 0 \\ C + E - F &= 2 \end{aligned}$$

$$\begin{array}{c} B \quad C \quad E \quad F \\ \left[ \begin{array}{cccc|c} 1 & 0 & -1 & 0 & 1 \\ 1 & 2 & 0 & -2 & 0 \\ 0 & 1 & 1 & -1 & 2 \end{array} \right] \begin{array}{l} (-1) \\ \leftarrow \\ \end{array} \sim \left[ \begin{array}{cccc|c} 1 & 0 & -1 & 0 & 1 \\ 0 & 2 & 1 & -2 & -1 \\ 0 & 1 & 1 & -1 & 2 \end{array} \right] \begin{array}{l} \\ \\ (-2) \end{array} \sim$$

$$\sim \left[ \begin{array}{cccc|c} 1 & 0 & -1 & 0 & 1 \\ 0 & 2 & 1 & -2 & -1 \\ 0 & 0 & -1 & 0 & -5 \end{array} \right]$$

$$\begin{aligned} B - E &= 1 & \boxed{B=6} \\ 2C + E - 2F &= -1 & \boxed{F=0} \text{ zulime} \\ \underline{\underline{-E = -5}} &\rightarrow \boxed{E=5} \end{aligned}$$

$$\rightarrow 2C + 5 = -1$$

$$\vec{y}_p = \begin{bmatrix} Ax^2 + Bx + C \\ Dx^2 + Ex + F \end{bmatrix} = \begin{bmatrix} -\frac{1}{2}x^2 + 6x - 3 \\ -\frac{1}{2}x^2 + 5x \end{bmatrix}$$

$$\begin{aligned} 2C &= -6 & \boxed{A = -\frac{1}{2}} \\ \boxed{C} &= -3 & \boxed{D = -\frac{1}{2}} \end{aligned}$$

$$\vec{y} = \vec{y}_H + \vec{y}_p = c_1 e^{-x} \begin{bmatrix} 2 \\ 1 \end{bmatrix} + c_2 \begin{bmatrix} 1 \\ 1 \end{bmatrix} + \begin{bmatrix} -\frac{1}{2}x^2 + 6x - 3 \\ -\frac{1}{2}x^2 + 5x \end{bmatrix}$$

$$\vec{y}' = \begin{bmatrix} 1 & 2 & -1 \\ -1 & 2 & 1 \\ -1 & -1 & 4 \end{bmatrix} \vec{y} + \begin{bmatrix} 2 \\ 2 \\ 1 \end{bmatrix} e^{-x}$$

$$\lambda_1 = 3 \quad \vec{v}_1 = (1, 3, 4)$$

$$\lambda_{2,3} = 2 \quad \vec{v}_2 = (1, 1, 1)$$

zobernej vl. velka pro  $\lambda_2 = 2$

$$\vec{y}_1 = e^{3x} \begin{bmatrix} 1 \\ 3 \\ 4 \end{bmatrix}$$

$$\vec{y}_2 = e^{2x} \begin{bmatrix} 1 \\ 1 \\ 1 \end{bmatrix}$$

$$(C - 2E)^2 \cdot \vec{u} = \vec{0}$$

$$\begin{bmatrix} -1 & 2 & -1 \\ -1 & 0 & 1 \\ -1 & -1 & 2 \end{bmatrix} \cdot \begin{bmatrix} -1 & 2 & -1 \\ -1 & 0 & 1 \\ -1 & -1 & 2 \end{bmatrix} = \begin{bmatrix} 0 & -1 & 1 \\ 0 & -3 & 3 \\ 0 & -4 & 4 \end{bmatrix}$$

$$\vec{u} = \begin{bmatrix} A \\ A \\ A \end{bmatrix} = \begin{bmatrix} 1 \\ 0 \\ 0 \end{bmatrix} \quad (\text{zvoleno } s=1, t=0)$$

$$\begin{aligned} -y + z &= 0 \\ y = z &= A \\ x &= A \end{aligned}$$

$$\vec{y}_3 = e^{2x} \left( \begin{bmatrix} 1 & 0 & 0 \\ 0 & 1 & 0 \\ 0 & 0 & 1 \end{bmatrix} + x \begin{bmatrix} -1 & 2 & -1 \\ -1 & 0 & 1 \\ -1 & -1 & 2 \end{bmatrix} \right) \begin{bmatrix} 1 \\ 0 \\ 6 \end{bmatrix} = e^{2x} \left( \begin{bmatrix} 1 \\ 0 \\ 0 \end{bmatrix} + x \begin{bmatrix} -1 \\ -1 \\ -1 \end{bmatrix} \right) = e^{2x} \begin{bmatrix} 1-x \\ -x \\ -x \end{bmatrix}$$



$$\vec{y}' = \begin{bmatrix} 1 & 2 & -1 \\ -1 & 2 & 1 \\ -1 & -1 & 4 \end{bmatrix} \vec{y} + \begin{bmatrix} 2 \\ 2 \\ 1 \end{bmatrix} e^{-x}$$

$$\vec{y}_p = e^{-x} \begin{bmatrix} A \\ B \\ C \end{bmatrix} \quad \vec{y}_p' = -e^{-x} \begin{bmatrix} A \\ B \\ C \end{bmatrix}$$

$$\lambda = -1 \rightarrow k = 0$$

$$\text{dovazeni: } -\cancel{e^{-x}} \begin{bmatrix} A \\ B \\ C \end{bmatrix} = \begin{bmatrix} 1 & 2 & -1 \\ -1 & 2 & 1 \\ -1 & -1 & 4 \end{bmatrix} \begin{bmatrix} A \\ B \\ C \end{bmatrix} \cancel{e^{-x}} + \begin{bmatrix} 2 \\ 2 \\ 1 \end{bmatrix} \cancel{e^{-x}}$$

$$\begin{aligned} -A &= A + 2B - C + 2 & \rightarrow & \begin{cases} 2A + 2B - C = -2 \\ -A + 3B + C = -2 \\ -A - B + 5C = -1 \end{cases} \\ -B &= -A + 2B + C + 2 \\ -C &= -A - B + 4C + 1 \end{aligned}$$

$$\left[ \begin{array}{ccc|c} 2 & 2 & -1 & -2 \\ -1 & 3 & 1 & -2 \\ -1 & -1 & 5 & -1 \end{array} \right] \begin{array}{l} (2) \leftarrow \\ (2) \leftarrow \end{array} \sim \left[ \begin{array}{ccc|c} 2 & 2 & -1 & -2 \\ 0 & 8 & 1 & -6 \\ 0 & 0 & 9 & -4 \end{array} \right]$$

$$2A + 2B - C = -2$$

$$8B + C = -6 \rightarrow 8B = -6 - \frac{4}{9} = -\frac{58}{9} \rightarrow B = -\frac{58}{72}$$

$$9C = -4 \rightarrow C = -\frac{4}{9}$$

$$2A = -2 + \frac{58}{36} - \frac{4}{9} = \frac{-72 + 58 - 16}{36} = \frac{-30}{36}$$

$$A = \frac{-15}{36} = \frac{-5}{12}$$

$$\rightarrow y_p = \begin{bmatrix} A \\ B \\ C \end{bmatrix} e^{-x} = \begin{bmatrix} -\frac{5}{12} \\ -\frac{58}{72} \\ -\frac{4}{9} \end{bmatrix} e^{-x}$$

$$\vec{y} = \vec{y}_H + \vec{y}_p = c_1 e^{3x} \begin{bmatrix} 1 \\ 3 \\ 4 \end{bmatrix} + c_2 e^{2x} \begin{bmatrix} 1 \\ 1 \\ 1 \end{bmatrix} + c_3 e^{2x} \begin{bmatrix} 1-x \\ -x \\ -x \end{bmatrix} + e^{-x} \begin{bmatrix} -\frac{5}{12} \\ -\frac{58}{72} \\ -\frac{4}{9} \end{bmatrix}$$
